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Multiplication (Vertical) Name:
Solve each problem. Answers
1 20 2) 23 3) 91 4) 56
1.
x 46 x 34 x 83 X 37
2.
3.
4.
5) 36 6) 97 7) 73 8) 87
5.
X 74 X 29 x 17 x 50
6.
7.
8.
9 35 10) 11 11) 65 12) 20
9.
X 72 x 81 x 12 X 53
10.
11.
12.
13) 49 14) 40 )73 16) 51
13.
X 54 X 71 x 50 X 32
14.
15.
16.
21 18) 47 19 78 20) 22
17.
x 33 x 26 x 20 x 21
18.
19.
20.
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
1) 2) 3) 4)
20 23 91 56 ) 920
x 46 x 34 x 83 X 37
120 92 273 392 ) 782
+ 800 + 690 +7,280 +1.680
920 782 7.553 2 072 3 __ (993
. 2072
5) 6) 7) 8)
36 97 73 87 . 2664
x 74 x 29 x 17 x 50
144 873 511 4,350 s 2813
+2.520 + 1,940 + 730
2 664 2 813 1,241 7. 1241
8 4,350
9) 10) 11) 12)
35 11 65 20 . 2520
X 72 x 81 x 12 X 53
70 11 130 60 L0, 891
+2 450 + 880 +650 + 1,000
2520 891 780 1,060 1n__ /80
12. 1,060
13 14 15 16
) 49 ) 40 ) 73 ) 51 s 2646
X 54 X 71 x 50 X 32
196 40 3.650 102 u 2,840
+ 2,450 + 2,800 + 1,530
2 646 2840 1,632 15 3,650
16. 1,632
17 18 19 20
) 21 ) 47 ) 78 ) 22 . 693
x 33 X 26 x 20 x 21
63 282 1.560 22 s 1222
+ 630 + 940 + 440
693 1,222 462 0. 1,560
0 462
1-10 195(90(85|80| 7570|6560 |55 |50
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